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throughout the paper.

fewoit.— 39 Y3997 &7 I AR T 3= FEl wF
aT # JST dferT g4t 3 T Areqw T @
g AMET |

All questions are compulsory. Each question
carries 15 marks. Marks of sub parts are
given at the end of each question.

T4t w¥7 sfard &1 99%F 59 15
3% FT 8| ¥V & IT-9 F
dF g 2 T &

1. (a) What is meant by cost control and cost reduction?
PTG
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(b)
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AnTa e qu AT e ¥ = ey @2
5

If margin of safety is Rs. 2,40,000 (40% of sales)
and P/V ratio is 30% of AB Ltd, calculate its (i)

break-even sales and (ii) amount pf profit on sales
of Rs. 9 lakhs.

aft AB fafezs #it weem wwr 2,40,000 %o
(RsFa =1 40%) 3R P/V ST 30% 8, @ Fwa
(i) en-faB3 fasa awn (i) 9 @@ %o * famwa
W A St AET H 0T RS 5
X Ltd has earned a contribution of Rs. 2,00,000

and net profit of Rs. 1,50,000 on sales of Rs.
8,00,000. What is its margin of safety?

X fafires ¥ 8,00,000 To ¥F fasra W 1,50,000 To

& fae @1 aun 2,00,000 To H AR HAAT |

IWHT LA Hwn = g ? 5
Or (2rean)

Define Management Accounting and explain its
objectives.

YOS AWET H qfonfia FfeT q9r 39
3L¥T [HHAIT | ‘ 5

In what respects is Cost Accounting different
from Management Accounting?

AN AW (o TRqell ¥ yeusa d@isa d
fa=r 22 5

(c)

2. (a)

(b)
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The ratio of variable cost to sales is 70%. The
break-even point occurs at 60% of the capacity
sales. Find the capacity sales when fixed costs are
Rs. 90,000. Also compute profit at 75% of the
capacity sales.

fisa sk ufEdaeiel @U@ B SEEE 70% 2 |
wu-fady fag gwar foR & 60% W @ R
e fast framfee s« R &P 90,000 %o ® |
g fasht & 75% W AW At ferferg | 5

Differentiate between Product cost and Period
cost.

IAE ANE F Iafy T § A S | 5

In a factory, 100 workers are engaged and average
rate of wages is Rs. 5 per hour. Standard working
hours per week are 40 hours, standard output is
10 units per hour. During a week in February,
wages were paid for 50 workers @ Rs. 5 per hour,
10 workers @ Rs. 7 per hour and 40 workers @
Rs. 8 per hour. Actual output was 300 units. The
factory did not work for 5 hours due to breakdown
in the machinery.

Calculate labour cost variance, labour efficiency
variance and idle time variance.

E FREA 100 FHA@ Fda § adr gegd
aitaa @ 5 o ufa e 8 | wwe ¥ AFe v
%2 40 ¥ q WS IAET 10 FHE WA €A © I

Wl % U g § megd & qUmEE S50
p.T. O,
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FHAfE! & 5 Fo ufa wer, 10 FHFRE Y 7 Fo
gfd =21 qur 40 FHEIE R 8 Fo Wiy HEr A
feran Tar | arafas IaEA 300 3HE 911 wEAAT
AT & FROT FREW 5 52 FE @ ga

a0 T fae, W gaar o stk fifsea @wa
fa=rtor &t oET iy | 10

Or (319Er)

Distinguish between Standard costing and
Budgetary control.

A AN qdT aeer fAEaer § R S s

A company currently manufactures 9600 units per
month of its only product and sells them at Rs.
120 per unit. Recently it agreed to a union
demand for 15% increase in wages with effect
from next month. This will also increase the
~variable overheads accordingly.

The details of current cost of production are as
follows:

Cost per Unit (Rs.)

Direct Material 50
Direct Labour _ 20
Variable Overheads’

(100% of Direct Labour) %0

The company is considering the following strate-
gies to neutralize the increase in cost with a view
to maintaining profit at current level:

o 1216

(i) Raise production and sales suitably without
changing the selling price. How much should
the sales be to maintain the same level of
profit?

(ii) Raise the selling price suitably, but maintain
 production and sales at current level. To
attract dealers, increase the sales com-
mission. The wvariable selling overheads
increase by Rs. 4 per unit. Suggest a suitable
price to maintain the same level of profit.

T& & 3WE 991 arcil FH1 HATSHA 3WH 9600
Al wfa Wig & T W @ ¢ R IF 120

%o Wfa gE WA W B 1 TA @ A IWA W Y

# wiT A A E AT R A YR S Awgd
¥ 15% @t gfg wrt | 398 ufadta sufea ot
TETER 9§ S |

I F A anT & faEr £

T Wiq gehTe
(Bo)
seaer |t 50
g 5 20
yfadasiia suReaa (yas 99 o
& 10%)

A9 H TIHE T W ST @ & fgEr @ A
¥ gfg | gwEd s F fow s freafafea
wHifaEl | faar & @ 8

P.T.O.
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() fora e @ fafde fFd far saeT g

fasil &1 ITgaFd ®9  FgET1 AW F I

W H T WA F fou fam feadt o
=1fey ?

(i) faka #iwd 1 IgF ® ¥ TGET W
IR 9 faml & Fdwe W W F9w W@ |
fashar @1 famwt sHiym agaR awsffa @
qﬁaﬂwwﬁamawﬁmﬁ4aonﬁsaﬁr§
i gig | @Y 1 W 1 W@ F fou 3faq
FHIHd AR | 10

3. A paint manufacturing company manufactures
2,00,000 p.a. medium sized tins of Spray-Lac paints
when working at norrmal capacity. It incurs the
following cost per unit:

Particulars Rs.
Direct Materials © 7-80
Direct Labour 2-10
Variable Overhead 2-50
Fixed Overhead 4.00
Total Product Cost per Unit 16-50

Each unit of the product is sold for Rs. 21 with
variable selling and administrative expenses of 60 paisa
per tin. During the next quarter only 10,000 units can
be produced and sold. Management plans to shut down

the plant estimating that the fixed manufacturing cost
can be reduced to Rs. 74,000 for the quarter.

When the plant is operating the Fixed Overheads are

7 1216

incurred” at a uniform rate throughout the year.
Additional costs of plant shut down for the quarter are

* estimated at Rs. 14,000.

You are required:

(a) To express your opinion, along with the
calculations, as to whether the plant should be
shut down during the quarter.

(b) To calculate the shut down point for the quarter
in units of products (i.e., in terms of number of
tins).

AW aHa W HW W ge G Y i e

g9 ¥=2 ¥ "weaw AR & f 1 IAE 2,00,000

fom s o @t @ | 9 Frey o Sfa g o

%

faawo o

woae |t ' It
e 2.10
S S———— 2.50.
fer 3uftea ARG
T IAR anTa ufd semé 16.50

saR & 21 % W gEE ¥ AWM @ B A€M
qftadasiter fawa qon gorEtE =9 60 ¥ wfa e
3| sl fod & 10,000 §9TE Sewfe & A< S
wwdt § 1 e @ A FREn @ oag &R
7 A @ gY fF fer saed @ f
feu 74,000 To T T S Fehal B |

P.T.O.
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ST FREAT A 8 @ fer 3uferm @ 9 e @

WA T o F fau srEn @ oaw w50

Hfafles arTa 1 FAE 14,000 Fo 2 |

S STEATIHAT 2

() W faumr 37 M, AT F @y, 5 o §
FR@M H ¢ HAT AT a1 T

(i) T FH H® F IO F gwEE F fewm A
frmdt & = a0 & fawg (A f FF @ e
F IER) | 15

Or ( 'mm)

A company at present is working at 90% capacity and
producing 13,500 units per year. It operates a flexible
budgetary control system. The following figures are
obtained from its budget:

Capacity ~ |o0% 100%
Sales 15,00,000 16,00,000
Fixed expenses 3,00,500 3,00,500
Variable expenses 1,45,000 1,49,500
Semi-fixed expenses (97,500 1,00,400
Units manufactured [13,500 15,000

Labor and material cost per unit is constant under
present conditions. Profit margin is 10% of sales at
90% capacity.

(a) You are required to determine the differential
cost of producing 1500 units by increasing capacity
to 100%.

9 1216

(b) What price would you recommend for export of
these 1500 units, taking into account that overseas
prices are much lower than the indigenous prices?

T FA Fro-fReTere 90% &Wal W Hd FEh T
af o 13,500 IHEAT H INEA I W B | @
il ased Fraao yoret @ dafad S 2

IgS a9z 4 fe stfee faed &
AT 90% 100%
fasa 15,00,000 16,00,000
far =19 3,00,500 3,00,500
fadasiter =99 1,45,000 1,49,500
3u-fer =g 97,500 1,00,400
fafifa zardat 13,500 15,000

ufd s & 3R gt =g adae ffefaal § fer
&1 90% &war T A | fawa & 10% 2

(a) SH GHAT H 100% T TGIH 1500 FHIE H
IEEA FA & AT =R (Differential) ANTA
fraftor & 2 )

(b) T8 & ¥ T@d gU & R Fiud @t Fimal
q FH FT T AW | 1500 FEA F frafa &
fau fag Fima =t fawfe sEr =@ ? 15

4. (a) What is meant by break-even analysis? Write the

assumptions of break-even chart.

B O,



1216

(b)

10

m-f‘a%z faveraor @ =T AT %.? Flﬂ-f%rﬁ}?«"

e & Arand s e 5

A company has a plant capacity of 19,800 machine
hours. The plant can produce either product A or
product B or a mixiure of the two products. The
following relevant information is given:

Particulars Product A
Selling Price per Unit Rs. 45
Variable Cost per Unit Rs. 30
Machine hours per Unit 5 hrs.
Particulars Product B
Selling Price per Unit Rs. 30
Variable Cost per Unit Rs. 18
Machine hours per Unit 3 hrs.

Market conditions are such that not more than
5,000 units of A and 4,000 units of B can be sold
in a year. Fixed costs are Rs. 60,000.

Calculate the product mix that will maximize the
net income and find that maximum income.

T FOA H OGET gHaT 19,800 WA w2 2 )
AT IAE A YAl 3AR B HAAT AT IARI H
firgor s ghar 21 frafafea swefies gaan
Uy &

fererror IR A
fasra qea Wi g8 Rs. 45
fadasite @rma 9fa 3R Rs. 30
wyia w2 wfa s S hrs

11 12i6

ﬁam lMB

ﬁa;qr@qmmg Rs. 30
uRadeiier @ wfa g Rs. 18
nyita w2 wfa &g 3 hrs

TR Rfeafaal 4t € f5 @ ad F A =t 5000
THEAl 3R B #4000 ITHEAT ¥ SIS AG St
S W 8 | FRR AN 60,000 Fo € I

ﬂmﬁwmﬁﬁaﬁrmﬁaﬂaﬁn
F I IW AfGHaw g & AT HSC L 10

Or (3rga)

(a) What are the different methods for the measure-

ment of Divisional performance?

ﬁrwﬁwmhaﬁmﬁaﬂﬁfwﬁfwfwﬁ?s

(b) XY Ltd has prepared the following sales budget

for the first six months of the financial year
2016-17:

Sales Budget
Month Units
April 54,000
‘May 78,000
June 61,000
July 52,000
August 40,000

Inventory of the finished goods at the end of
every month is to be equal to 25% of salcs

P70
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-estimate bf the next month. On 1st April; 2016
there were 13,500 units of the product at hand.

There is no work in progress at the end of any
month.

Every unit of the product requires two types of
material input in the following quantities:

Material A 5 kg
Material B 6 kg

Material equal to 50% of the requirement of the

next moath’s production is to be in hand at the
end of every month.

This requirement was adequately met on 1st April
z016.

Prepare the following budgets for the first quarter
of the financial year 2016-17:

(i) Quantitative Production Budget
(i) Material Purchase Budget (Quantitative).

fadta af 2016-17 & wuw 6 =&l & fau Xy
fito I e famg oz R fwan &

faera awe
7T

e
ante 54,000
] 78,000
EG] 61,000
BRI 52,000
AT 40,000

5. (a)

13 1216
dm A ) WeRsE A% TE % 9 A s
R % fama A & 25% & SUeR B AeT |
1 3, 2016 | I F 13500 FTHEA TA A
o |
fareft +ft wre % o # wfa W wE @ R

IME H TS THE H o THR S WU AW
F fe aEn ¥ sEvaE €

|t A S kg
|t B 6 kg

TS WIE & I H HTA WE & IARA H
STavasal &t 50% Wl gy ¥ A =fe

1 arie, 2016 W TE AETEIHRAT TA@ T A qOf
& M ot '

fasta ad 2016-17 & ¥om faw@ & fad fre
a9 daR HfET

(i) T[UEH STATeA FeiE
(i) Wl #Y S (AETHS d92) |

Draw up a flexible budget for overhead expenses
on the following data at 80% capacity level and
determine the overhead rates at 70%, 80% and
90% plant capacity levels:

Variable overhead:
PT. 0.
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Indirect labour Rs. 12,000

Indirect material Rs. 4,000

Semi-Variable overhead:
Power (30% fixed, 70% variable) Rs. 20,000

Repair (60% fixed, 40% variable) Rs. 2,000

Fixed overhead:
Depreciation Rs. 11,000
Insurance Rs. 3,000
Others Rs. 10,000
Total overheads Rs. 62,000
Estimated direct labour hours 1,24,000 hours.

80% &l TR W frafafaad sfewel & MR W
39fegg & AU A=ER 91 SARY auT 70%, 80%
3R 90% WEA s WU W IR & F woE
FHifaw :

gftad=siter 39ft:
AN AR Rs. 12,000
AT o Rs. 4,000
ared-ufigdasiter 3uft

wisa (30% &R, 70% uftad=sitenRs. 20,000
TTHd (60% fer, 40% uf@dasiten) Rs. 2,000

fer 3uft
L G AL Rs. 11,000
Gl ~ Rs. 3,000
G Rs. 10,000

Fol Ity Rs. 62,000

A SeaE 5| or 1,24,000 hours
10

(b) Calculate from the following figures:

(i) Efficiency ratio

(ii) Activity ratio

(ii) Capacity ratio:

Budgeted Production 880 units

Standard hours per unit 10

Actual Production 750 units

Actual Working hours 6,000

frfafaa sitesg A

(i) fasfa srqom

(i) Wfafafe seam@

(iii) &wan

frramfe:

T FIEA 880 units

Hre wue wfa g 10

arwfas® e 750 THE

areafas wrdve que 6,000 .

Or (31gan)

Write short notes on any three of the following:

(a) Performance Budget

1216
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(b) Responsibility Accounting
(c) Transfer Pricing

(d) Zero Based Budgeting.

Frafafas & @ fed @ W Efga ool ST
(a) We¥iA W

(b) . ST A A

(0) TR e

(d) Y @ T |

15
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